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1. (d)

2. (a) (21, 225, 9)

 (21 + 9) ÷ 2 = 15

 152 = 225 (Middle no)

(12, 49, 2)

 (12 + 2) ÷ 2 = 7

 72 = 49 (Middle no)

Similarly,

(14, 64, 2)

 (14 + 2) ÷ 2 = 8

 82 = 64 (Middle no)

3. (b)11 : 130

 112 + 9

 121 + 9 = 130

7 : 58

 72 + 9

 49 + 9 = 58

Similarly,

15 : x

 152 + 9

 225 + 9 = 234 = X

4. (c) 13, 16, 23, 36, 57, 88, , 188131

+3 +7 +13 +21 +31 +43

+4 +6 +8 +10 +12

+2 +2 +2 +2

+57

+14

+2

5. (d)16 : 38

 16 × 2 + 6

 32 + 6 = 38

26 : 58

 26 × 2 + 6

 52 + 6 = 58

Similarly,

37 : x

 37 × 2 + 6

 74 + 6 = 80 = x

6. (c) F GR I N E

6 718 9 14 5

Similarly,

P SL E A E

16 1912 5 1 5

7. (c)

8. (c)

SSC CGL 2025 | SPECIAL MOCK TEST – 10  :  SOLUTIONS

9. (d) Rinku Rinku’s wife

Rinku’s
son

Rinku’s mother’s 
daughter

The lady, is the wife of
Rinku.

10. (a) Woods

Branches

Trees

11. (c)
A  Y  T  R  E  S

S  F  T  U  Z  B

+1 +1 +1 +1+1 +1

M  I  N  T  E  D

U  F  E  O J  N

+1 +1 +1 +1+1 +1

L  T  R  E  A  D

F  B  E  S U  M

+1 +1 +1 +1+1 +1

12. (c) (6 + 2)3 = (8)3 = 512

(3 + 6)3 = (9)3 = 729

(5 + 1)3 = (6)3 = 216  125
(odd)

(7 + 1)3 = (8)3 = 512

13. (b)

14. (a) L 
–

M
+
Brother

 N
+

O
–

Father’s father

Daughter Son

P
+

15. (c) Jayant > Mukul > Prakash >
Karan > Suresh > Rajan

16. (a)
RAB, SZD, TYF, UXH, VWJ

+1 +1 +1 +1
+2 +2 +2 +2

–1 –1 –1 –1

17. (a)
18. (a)
19. (b)4, 1, 2, 3, 5, 6, 7, 8  = CREATIVE

20. (d)

21. (b) F G O

H

J

L

N

I

K

M

O

R

U

X

A

+2

+2

+2

+2

+2

+2

+2

+2

+3

+3

+3

+3

22. (c) 12 + 66 ÷ 11 – 4 × 91 = 159

After interchanging '+' and '×'

 12 × 66 ÷ 11 – 4 + 91 = 159

 12 × 6 – 4 + 91 = 159

 163 – 4 = 159

 159 = 159 (L.H.S = R.H.S)

23. (c)

24. (c) 100 : 26

 (26 – 1) × 4

 25 × 4 = 100

16 : 5

 (5 – 1) × 4

 4 × 4 = 16

8 : 4

 (4 – 1) × 4

 12   8 (odd)

120 : 31

 (31 – 1) × 4

 30 ×4 = 120

25. (c)

B-GENERAL AWARENESS

26. (c) Article 148 of the

Constitution of India

provides for an

independent office of the

Comptroller and Auditor

General of India (CAG). The

CAG is responsible for

auditing the accounts of

the Union and State

governments and ensuring

financial accountability.

The independence of the

CAG is safeguarded by

various provisions in the

Constitution./Hkkjrh; lafo/ku
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dk vuqPNsn 148 Hkkjr ds fu;a=kd
,oa egkys•k ijh{kd (CAG) ds ,d
Lora=k dk;kZy; dk çko/ku djrk gSA
CAG la?k vkSj jkT; ljdkjksa ds •krksa
dh ys•k ijh{kk djus vkSj foÙkh;
tokcnsgh lqfuf'pr djus ds fy,
ftEesnkj gSA lafo/ku esa fofHkUu çkoèkkuksa
}kjk CAG dh Lora=krk dh j{kk dh
xbZ gSA

27. (c) Statement A is correct:

Global warming refers to the

long-term rise in Earth's

average surface temperature

due to human activities,

especially the burning of

fossil fuels, which increases

greenhouse gas levels in the

atmosphere. Statement B is

correct: Global warming

leads to climate change,

resulting in extreme weather

events such as heat waves,

rising sea levels, and

widespread flooding, posing

a serious threat to

ecosystems and human

societies./dFku A lgh gS% Xykscy
okfeZax ls rkRi;Z ekuoh; xfrfof/;ksa]
fo'ks"k :i ls thok'e bZaèku ds tyus
ds dkj.k i`Foh dh vkSlr lrg ds
rkieku esa nh?kZdkfyd o`f¼ ls gS] tks
ok;qeaMy esa xzhugkml xSl ds Lrj dks
c<+krk gSA dFku B lgh gS% Xykscy
okfeZax ls tyok;q ifjorZu gksrk gS]
ftlds ifj.kkeLo:i pje ekSle dh
?kVuk,a gksrh gSa tSls ghV oso] leqæ dk
c<+rk Lrj vkSj O;kid ck<+] tks
ikfjfLFkfrd ra=k vkSj ekuo lektksa ds
fy, xaHkhj •rjk iSnk djrh gSaA

28. (c) Thallophyta includes simple,

undifferentiated plants that

lack true roots, stems, and

leaves.  These plants are

mostly aquatic and are

commonly called algae (e.g.,

Spirogyra, Ulva and

Chlamydomonas). They do

not have vascular tissues

for conduction of water

and nutrients./FkSyksiQkbVk esa
ljy] vfoHksfnr ikS/s 'kkfey gSa
ftuesa okLrfod tM+sa] rus vkSj ifÙk;ka
ugha gksrh gSa muesa ty vkSj iks"kd
rRoksa ds laogu ds fy, laoguh
Ård ugha gksrs gSaA

29. (b) In 1935, F.E. Fritsch

published "The Structure

and Reproduction of the

Algae" a detailed

classification and

explanation of the

structure and repro-

ductive system of algae./

1935 esa] F.E. Fritsch us "'kSoky
dh lajpuk vkSj çtuu" uked
iqLrd çdkf'kr dh] tks 'kSoky dh
lajpuk vkSj çtuu ç.kkyh dk foLr̀r
oxhZdj.k vkSj O;k[;k gSA

30. (b) Uniform acceleration

means that the

acceleration of an object

remains constant over

time. When an object is in

free fall, it moves under

the influence of gravity

alone, which provides a

constant acceleration of

9.8 m/s² (on Earth).  This

makes free fall a perfect

example of uniform

acceleration./,dleku Roj.k
dk vFkZ gS fd fdlh oLrq dk
Roj.k le; ds lkFk fLFkj jgrk gSA
tc dksbZ oLrq eqDr :i ls fxjrh
gS] rks og dsoy xq#Rokd"kZ.k ds
çHkko esa pyrh gS] tks 9.8 m/s²

(i`Foh ij) dk fujarj Roj.k çnku
djrk gSA ;g eqDr :i ls fxjuk
,dleku Roj.k dk ,d vkn'kZ
mnkgj.k cukrk gSA

31. (d) According to Faraday's

Law of Electromagnetic

Induction, the induced

current in a coil depends

on the rate of change of

magnetic flux through the

coil. The maximum change

in magnetic flux occurs

when the coil moves

perpendicular (at right

angles) to the magnetic

field.  This results in the

highest induced current

because the relative motion

between the coil and the

magnetic field is

maximized./iQSjkMs ds fo|qr
pqEcdh; çsj.k ds fu;e ds vuqlkj]
,d dqaMyh esa çsfjr /kjk dqaMyh ds
ekè;e ls pqacdh; çokg ds ifjorZu
dh nj ij fuHkZj djrh gSA pqacdh;
çokg esa vf/dre ifjorZu rc gksrk
gS tc dqaMyh pqacdh; {ks=k ds yacor
(ledks.k ij) pyrh gSA blds
ifj.kkeLo:i lcls vf/d çsfjr èkkjk
mRiUu gksrh gS D;ksafd dqaMyh vkSj
pqacdh; {ks=k ds chp lkis{k xfr
vf/dre gksrh gSA

32. (a) In 1915, the President of

the Indian National

Congress was Satyendra

Prasanna Sinha. He was

also the first Indian to be

appointed as a member of

the British House of

Lords./1915 esa] Hkkjrh; jk"Vªh;
dkaxzsl ds vè;{k lR;saæ çlUu flUgk
FksA og fczfV'k gkml vkWiQ ykWM~lZ ds
lnL; ds :i esa fu;qDr gksus okys
igys Hkkjrh; Hkh FksA

33. (d) Alauddin Khilji appointed

Shaha-i-Mandi to

implement strict market

reforms to control prices

and ensure a stable supply

of essential goods./vykmíhu
f•yth us dherksa dks fu;af=kr djus
vkSj vko';d oLrqvksa dh fLFkj vkiwfrZ
lqfuf'pr djus ds fy, l[r cktkj
lq/kjks a dks ykxw djus ds fy,
'kkg&,&eaMh dks fu;qDr fd;kA
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34. (c) Under Article 32 and

Article 226 of the Indian

Constitution, the Supreme

Court and High Courts can

issue five types of writs to

enforce fundamental rights

and ensure justice. These

writs are: Habeas Corpus,

Mandamus, Prohibition,

Certiorari and Quo

Warranto./Hkkjrh; lafo/ku ds
vuqPNsn 32 vkSj vuqPNsn 226 ds
rgr] lokZsPp U;k;ky; vkSj mPp
U;k;ky; ekSfyd vf/dkjksa dks ykxw
djus vkSj U;k; lqfuf'pr djus ds
fy, ik¡p çdkj ds fjV tkjh dj
ldrs gSaA ;s fjV gSa% canh çR;{khdj.k]
ijekns'k] fu"ks/] mRçs"k.k vkSj vf/
dkj ìPNkA

35. (d) Loo is a hot, dry, and

oppressing wind that blows

over northern and

northwestern India during

the summer months (April–

June). It increases the

temperature significantly,

often leading to heat waves

and causing dehydration or

heatstroke./yw ,d xeZ] 'kq"d
vkSj neudkjh gok gS tks xfeZ;ksa ds
eghuksa (vçSy&twu) ds nkSjku mÙkjh
vkSj mÙkj&if'peh Hkkjr esa cgrh gSA
;g rkieku esa dkiQh o`f¼ djrh gS]
ftlls vDlj yw pyrh gS vkSj
futZyhdj.k ;k ghVLVªksd gksrk gSA

36. (a) According to the Insolvency

and Bankruptcy Code (IBC),

2016, the Corporate

Insolvency Resolution

Process (CIRP) for companies

must be completed within

180 days from the date of

admission of the insolvency

application. The aim of the

IBC is to ensure a time-

bound resolution of

insolvency cases to improve

the ease of doing business in

India./fnokyk vkSj fnokfy;kiu lafgrk
(IBC), 2016 ds vuqlkj] daifu;ksa ds
fy, dkWikZsjsV fnokyk lek/ku çfØ;k
(CIRP) fnokyk vkosnu dh LohÑfr
dh rkjh• ls 180 fnuksa ds Hkhrj iwjh
gksuh pkfg,A IBC dk mís'; Hkkjr esa
O;kikj djus esa vklkuh esa lqèkkj djus ds
fy, fnokfy;siu ds ekeyksa dk le;c¼
lek/ku lqfuf'pr djuk gSA

37. (d) The autobiography of Mary

Kom is titled Unbreakable.

Wings of Fire is the

autobiography of Dr. A.P.J.

Abdul Kalam./eSjh dkWe dh
vkRedFkk dk 'kh"kZd vuczsdscy gSA
foaXl vkWiQ iQk;j MkW- ,-ih-ts- vCnqy
dyke dh vkRedFkk gSA

38. (b) The Reserve Bank of India

(RBI) introduced a

comprehensive regulatory

framework for Non-Banking

Financial Company-

Microfinance Institutions

(NBFC-MFIs) on 2 December

2011. This framework was

based on the

recommendations of the

Malegam Committee, which

was formed to regulate the

microfinance sector and

address issues like over-

indebtedness, high interest

rates, and coercive recovery

practices. The regulations

defined NBFC-MFIs, set

interest rate caps, and

introduced measures for

responsible lending./Hkkjrh;
fjtoZ cSad (vkjchvkbZ) us 2 fnlacj
2011 dk s x Sj&c S a fd ax foÙkh;
daiuh&ekbØk siQ kbu s al laLFkkuk s a
(,uch,iQlh&,e,iQvkbZ) ds fy, ,d
O;kid fofu;ked <kapk is'k fd;kA
;g <kapk ekysxke lfefr dh fliQkfj'kksa
ij vk/kfjr Fkk] ftldk xBu
ekbØksiQkbusal {ks=k dks fofu;fer djus
vkSj vfr&½.kxzLrrk] mPp C;kt njksa
vkSj tcju olwyh çFkkvksa tSls eqíksa

dks lacksf/r djus ds fy, fd;k x;k
FkkA fofu;eksa us ,uch,iQlh&,e,iQvkbZ
dks ifjHkkf"kr fd;k] C;kt nj lhek
fuèkkZfjr dh vkSj ftEesnkj ½.k nsus
ds mik; is'k fd,A

39. (d) The book "Gulamgiri" was

written by Jyotirao Phule.

It is a seminal work that

critiques the caste system

and advocates for social

reform. Phule's writings

have had a profound

impact on India's social

justice movements./ iqLrd
"xqykefxjh" T;ksfrjko iQqys }kjk fy•h
xbZ FkhA ;g ,d ekSfyd dk;Z gS tks
tkfr O;oLFkk dh vkykspuk djrk gS
vkSj lkekftd lq/kj dh odkyr
djrk gSA iQqys ds ys•u dk Hkkjr ds
lkekftd U;k; vkanksyuksa ij xgjk
çHkko iM+k gSA

40. (c) After 44th Constitutional

Amendment Act, 1978

Right to property became

legal right under Article

300A, earlier it was a

fundamental right under

Article 31 of the Indian

Constitution./44os a lafo/ku
la'kks/u vf/fu;e] 1978 ds ckn laifÙk
dk vf/dkj vuqPNsn 300d ds rgr
dkuwuh vf/dkj cu x;k] igys ;g
Hkkjrh; lafo/ku ds vuqPNsn 31 ds
rgr ,d ekSfyd vf/dkj FkkA

41. (c) The English army was led

by Hector Munro, who

decisively defeated the

alliance of Mir Qasim

(Nawab of Bengal), Shuja-

ud-Daula (Nawab of

Awadh) and Mughal

Emperor Shah Alam II.

This victory strengthened

British control over Bengal

and led to the Treaty of

Allahabad (1765), granting

them Diwani rights

(revenue collection)./vaxzsth
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lsuk dk usr̀Ro gsDVj equjks us fd;k
Fkk] ftlus ehj dkfle (caxky ds
uokc)] 'kqtk&mn&nkSyk (vo/ ds
uokc) vkSj eqxy lezkV 'kkg vkye
f}rh; ds xBca/u dks fu.kkZ;d :i
ls gjk;k FkkA bl thr us caxky ij
fczfV'k fu;a=k.k dks etcwr fd;k vkSj
bykgkckn dh laf/ (1765) dks tUe
fn;k] ftlls mUgsa nhokuh vf/dkj
(jktLo laxzg) feysA

42. (c) Changai dance is

associated with the Chang

tribe of Nagaland. This

traditional dance is

performed to celebrate

victories over enemies and

during various festive

occasions, reflecting the

rich cultural heritage of the

Chang community./paxkbZ ùR;
ukxkySaM dh pkax tutkfr ls tqM+k
gqvk gSA ;g ikjaifjd u`R; nq'euksa ij
thr dk t'u eukus vkSj fofHkUu
mRloksa ds nkSjku fd;k tkrk gS] tks
pkax leqnk; dh lè¼ lkaLÑfrd
fojklr dks n'kkZrk gSA

43. (b) Pt. Ram Narayan is a

renowned Sarangi player,

not a Sarod player. Ustad

Bismillah Khan – Shehnai,

Dr. N. Rajam – Violin, Pt.

Ravi Shankar – Sitar./iafMr
jke ukjk;.k ,d çfl¼ lkjaxh oknd
gSa] ljksn oknd ughaA mLrkn fcfLeYykg
•ku & 'kgukbZ] MkW- ,u- jkte &
ok;fyu] iafMr jfo'kadj & flrkjA

44. (c) The Second Five-Year Plan

(1956-61) was based on the

Nehru-Mahalanobis Model,

which focused on rapid

industrialisation with an

emphasis on heavy

industries like steel, coal,

and machinery. It aimed to

reduce dependency on

imports and build a strong

industrial base to support

long-term economic

growth. This plan played a

crucial role in developing

the public sector and

strengthening industries

such as steel plants in

Bhilai, Rourkela, and

Durgapur./nwljh iapo"khZ; ;kstuk
(1956&61) usg:&egkyuksfcl ekWMy
ij vk/kfjr Fkh] ftlesa bLikr] dks;yk
vkSj e'khujh tSls Hkkjh m|ksxksa ij
tksj nsrs gq, rsth ls vkS|ksfxdhdj.k
ij è;ku dsafær fd;k x;k FkkA bldk
mís'; vk;kr ij fuHkZjrk de djuk
vkSj nh?kZdkfyd vkfFkZd fodkl dk
leFkZu djus ds fy, ,d etcwr
vkS|ksfxd vk/kj cukuk FkkA bl ;kstuk
us lkoZtfud {ks=k ds fodkl vkSj
fHkykbZ] jkmjdsyk vkSj nqxkZiqj esa bLikr
la;a=kksa tSls m|ksxksa dks etcwr djus
esa egRoiw.kZ Hkwfedk fuHkkbZA

45. (c) A seismograph is an

instrument used to detect

and measure seismic waves

caused by earthquakes,

volcanic eruptions, and

other ground vibrations. It

records the intensity,

duration, and magnitude of

an earthquake by tracking

movements in the Earth's

crust./lhLeksxzkiQ ,d midj.k gS
ftldk mi;ksx Hkwdai] Tokykeq•h
foLiQksV vkSj vU; tehuh daiu ds
dkj.k gksus okyh Hkwdaih; rjaxksa dk
irk yxkus vkSj ekius ds fy, fd;k
tkrk gSA ;g ìFoh dh iiM+h esa gypyksa
dks VªSd djds Hkwdai dh rhozrk] vof/
vkSj ifjek.k dks fjdkWMZ djrk gSA

46. (a)

47. (a)

48. (c)

49. (c)

50. (b)

gSAgS C - QUANTITATIVE APTITUDE

51. (a) Required radius R = r
1 
+ r

2
 +

r
3

= 1 + 4 + 9 = 14cm

52. (d)
1

a

a
+

1

b

b
+

1

c

c
=1


1

a

a
+1+

1

b

b
 + 1 + 

1

c

c
 +1

= 1 + 1 + 1 + 1


a  + 1  – a

a
 + 

1

1

b b

b

 


 +

1

1

c c

c

 


 = 4


1

1 a
+

1

1 b
+

1

1 c
= 4

53. (d)sin+ cos=
7

2

 sin2 + cos2+ 2sin×

cos = 
7

4

 1 +sin2=
7

4

Now,

(s in+cos ) 2+ (s in–

cos)2 =2

 (sin– cos)2 = 2 –
7

4
= 

1

4

 (sin– cos)2 =

2
1

2

 
  
 

 sin2+cos2– 2 sin

cos =
1

4
  1– sin2  = 

1

4

Now,

1 sin2

1 sin2

 

 
=

1

4
7

4

=
1

7

54. (c) Let r the radius of circle.

A B

C

D

In triangle ABC,
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AC = AB = BC  = r

  CAB =  60º

Similarly,

 DAB = 60º

 CAD = 120º

A B

C

D

120º

As, A is centre of circle

Area of sector ADBC

=
120º

360º
×r2 = 

1

3r2

Now,

Area of triangle of ACD

=
1

2
×r2 sin120º = 

3

4
r2

Area of segment CDB

=
1

3
r2 –

3

4
r2

 Required Area = 2×

2 24 3 3

12

r r  
 
 

=
2 24 3 3

6

r r 
=   24 3 3

6

r

55. (a) Let HCF = H, N
1
 = Hx, N

2
 =

Hy

Where x,y are coprime

 LCM = Hxy

ATQ,

Hxy + H = H(xy +1) = 259

 H (xy + 1) = 37 ×7

When H=1, xy + 1 = 259

 xy = 258 = 2 × 3× 43

No. of coprime pairs of xy
= 23 –1 = 4

When H = 7,xy + 1= 37

 xy = 36 = 6×6

No. of coprime pairs of x,y
= 21–1 =1

When H =37, xy + 1 =7

 xy = 6 = 2×3

No. of coprime pair of x,y
= 22–1=21 =2

When H= 37×7, xy + 1

          xy = 0

No. of coprime pairs of x,y
= 0

 Required number of pairs
= 4 + 1 + 2 = 7

56. (c)
a b

a b




=

1

5


a b

a b




=

5

1


a b a b

a b a b

  

  
=

5 1

5 1







2

2

a

b
=

9

4



2 2

2 2a –

a b

b


=

9 4

9 4




=

13

5

 (a2 + b2) : (a2 – b2) = 13 : 5

Now, (a2 – b2) : (a2 + b2) = 5 : 13

57. (a) Speed of thief = 10km/hr =

500

3
m/min

 Speed of policeman =
11km/hr


550

3
m/min.

Distance travelled by thief in
6 min

= 
550

3
×6 = 1000m

Distance travelled by
policeman in 6min =

550 6

3


= 1100m

 Difference = (1100 – 1000)

= 100m

 Distance between them
after 6min

= (200 –100) = 100m

58.(b) ATQ,

Working together

Worker effici.  time  work

n 1 2x/3 2nx/3

1 worker quite everyday 1 x w

W = n+(n –1) +(n – 2)+......+1

ATQ,

n= x

Equating work in Both side


2

3
nx  =  n

 1
2

n 


2

3
x = 

 1
2

n 


2

3
n = 

 1
2

n 

 n = 3

59.(d) Let work = 32 units

A   4 days

B   8 days

C   16 days

D   32 days

A   8 unit/ days

B   4 unit/ days

C   2 unit/ days

D   1 unit/ day

A + D 9 unit /day

B + C 6 unit /day

 (B+C) = 
2

3
(A+D)

[efficiency]

 First group = A & D

60.(b)

xMaths x + 20 2  + 30x
Science

ATQ,

x + 20 + x +2x + 30 + 0 =
110

 4x + 50 = 110

 x = 15

 Students who study ony
one subjects = x + 20 + 2x +
30 = 3x + 50 = 95

61. (d) A + B
24 days

B + C
40 days

5 unit 
days

3 unit /
days

Let work = 120 units

Efficiency:  A + B = 5

B + C = 3

A = 3C

ATQ,

A = 3C

 3C + B = 5

 B  + C = 3

     –     –     –

          2C = 2

 C =1 , B =2, A = 3

Required days = 
120

2
= 60

days
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62. (a)Applying Alligation-

A
5 65

7 91


8 56

13 91


B

9 63

13 91


7 : 2

 Required ratio = 7 : 2

63. (a) A

4hrs

B

6hrs

C
2hrs

3 units/
hrs

3 units/
hrs 6 units/

hrs

Let volume = 12 units

At = 7pm

A has filled – 6 units

B has filled – 2 units

 Volume filled = 6+2 = 8

units

 Volume to be emptied = 8

units

 Combined effiencey after

7pm

 = 3 + 2 – 6 = –1

 Required time = 
8

1
= 8hr

 At 3am tank will be
empty.

64. (b)Let the income of x,y be 4,
3  respectivly, and

expenses of  x,y be 3 , 2

respectively.

 Saving of A = 4 – 3

 Saving of B = 3 – 2

ATQ,

 4 – 3  = 3 – 2

 =

Now,

4 – 3= 4 – 3 = =

` 6000

 Total income = 7  =

` 42000

65. (b)x = 3 + 2 2

 x = 1+2 + 2× 2

 x = (1)2 +( 2 )2 + 2 × 1× 2

 x =  
2

1 2

  x = 1 2


1

x
= 

 
1

1 2


1

x
=

 
   

1 – 2

1 2 1 – 2 


1

x
=

1 2

–1



 x –
1

x
=  1 2 –

 2 1

= 1+ 2 – 2 +1 = 2

66. (c) Let C.P. of 8 quintal Rice =

` x

 C.P. of 1 quintal Rice =

`
8

x

 S.P. of 3kg without profit/

loss = `
3

8

x

 S.P. of 3 kg rice at 10%
profit

= 
3

8

x
+

3

8

x
×

1

10
=

33

80

x

 S.P. of 2 kg rice at 5% loss

= 
2

8

x
–

2

8

x
 ×

5

100
=

19

80

x

 Total S.P. =

3

8

x
+

33

80

x
+

19

80

x
= 

82

80

x

 Profit = 
S.P. – C.P.

C.P.
×100

  = 

82
–

80

x
x

x
×100 = 2.5%

67. (a)U= Speed = 
1 2

1 2

2U × U

U – U  =

2 3 2

3 2

 


 =  12km/hr

Distance = Ut
1
 

1

U
1

U

 
  
 

= 12×
40

60
 

12
1

3

 
  
 

= 40 km

68. (c) Average speed = 
80

8

km

hr

= 10 km/hr

Applying alligation

8 km/hr 16km/hr

6Time 2 

10km/hr

:

 Required distance = 8 ×
6 = 48km

69. (c) Let C.P. = ` 100  & M.P.

= ` x

 S.P. = ` 100 + ` 100 ×

20

100
= = ` 120

ATQ,  x ×
 100 10

100


= 120

  x ×
90

100
= 120

x = 
120 100

90


=

1200

9

= ` 133.3

 Required % = 
133.3 -100

100

 
  
 

× 100 = 33.3%
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70. (c)

50km

C

E

S S

74km

D

S
S

24km
3
4

S

3
4

B

Time taken during BC

=
24

3

4

km

S km

hr

=
24

3

4
s

Time taken during DE

=
24

S

ATQ, 
24 24

3

4

S
S

 
 
  
  
 

=
35 – 25

60


4

3
 × 

1

S
–

1

S
= 

10

60 24


1

3S
=

10

60 24

 S = 
60 ×24

10 3
= 48km/hr

71.(c) In ABC,

BC =

2 2AB AC = 2 2a b

b

a

2 2a b
C

A B

 Required Area

= a2 + b2 +  
2

2 2a b + 
1

2
ab

= 2 (a2+b2) + 0.5ab

72.(b)

B

C

A

Clearly, Area of region A

= area of region C

Area of portion A = Area
of semicircle of  radius 3m
– Area of semicircle of
radius 2m + Area of
semicircle of radius 1m.

=
1

2
 (3)2 –

1

2
 (2)2 +

1

2
 (1)2

= 3

Area of portion B = 2 (Area
of semicircle of radius 2m
– Area of semicircles of
radius 1m)

= 2[
1

2
 (2)2 – 

1

2
 (1)2] =3

 Required ratio = 3 : 3 :
3  = 1:1:1

73.(b) In AED

A

60m

B

F

(60+ )h m

C

60m

h

D

E

60º

30º

tan 30º =
h

AE

In AEF

tan60º = 
120 h

AE



Now,

 1

3

h
 =

120

3

h

 3h = 120 + h

 2h = 120

 h = 60m

 Height of cloud = (60+60)
= 120m

74. (a) xy5 ×z = x 215

Possible value of z =
3,5,7,9

z 1, as product is

different from xy5

As, we can cearly see that the
product x215 is around
10 time of xy5.

z =9

 x215 is multiple of 9  x

+ 2 +1+ 5 = 9

 x = 9 –8 =1, x = 1

 xy5 = 1215 ÷ 9 = 135

 y = 3

 x +y + z = 1 + 3+ 9 = 13

75. (c) 2sin2 –3sin+1 = 0

2sin2–2sin–sin+1 =0

2sin(sin–1)–1(sin–1) = 0

(2sin–1) (sin–1) =0

sin=1 and (2sin–1)=0

sin= sin90º and

sin=
1

2
=sin30º

1
 = 90 & 2

 = 30º

 Required sum = 90º + 30º

= 120º

D-ENGLISH COMPREHENSION

76. (a) Idle refers to being inactive,

lazy, or not engaged in

work (vkylh) , while

Diligent (esgurh] ifjJeh)
means hardworking,

careful, and active in work.

Coy (ladksph) means shy or

reserved.

Callous (funZ;h) means

insensitive or unfeeling.

Sober (x a H k h j)  means

serious or moderate in

behaviour.

77. (c) Persecution (lrkuk) means

the act of harassing,

oppressing, or treating

someone cruelly, especially

due to their beliefs or

identity. Similarly,

Oppression (vR;kpkj) ,

which means prolonged

cruel or unjust treatment.

Perfection (iw.kZrk) means

the state of being flawless

or without defects.
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Affliction (ihM+k) means

suffering or distress, which

is related but not the best

synonym.

Stimulation (mÙ k s tu k)
means encouraging or

arousing activity.

78. (a) Pore (xgjkbZ ls ns•uk) means

to examine or read

something carefully

Poor (xjhc) means lacking

wealth or quality.

Pour (Mkyuk) means to

make a liquid flow.

Paw (iatk) refers to the foot

of an animal.

79. (b) The correct order is DBCA.

D: Sets the context (Hindu

mythology book).

B: Mentions Brahma as the

creator.

C: Continues with Brahma’s

role in creation.

A: Specifies what he created

(plants and animals).

80. (a) “Have” is the correct

helping verb for plural

subjects “Philosophers” in

present perfect tense.

81. (c) If you had apprised me

about your problem earlier,

I would have allowed you

to go.

The sentence in the

question uses the past

perfect tense (“had

apprised”) correctly in the

if-clause, but it incorrectly

uses “would have allow” in

the main clause. The

correct form should be

“would have allowed”

because the main clause

describes a hypothetical

past situation.

82. (d) The correct order is ADCB.

A: Starts with the speaker’s

action (walking on the

beach and finding waste).

D: Explains the source of

the waste (dumped by an

industry).

C: Introduces children who

came to clean the waste.

B: Ends with the speaker

joining them in cleaning.

83. (a) to grasp the rope between

the toes.

The correct words are:

Grasp (idM+uk) – It means

to hold something firmly.

Toes (iSj dh maxfy;k¡) – It

refers to the digits of the foot.

84. (d) Prejudices means unfair or

biased opinions without

proper knowledge and it is

relevant here because

stereotypes often lead to

unfair and biased

opinions about certain

groups of people.

Problems means issues

Thoughts means ideas

Conclusions means

decisions.

85. (d) Defeat (gkj) means a loss

or failure in achieving

something. Its synonym is

Setback (#dkoV), which

means an obstacle or delay

in progress.

Progression (çxfr) means

forward movement or

development.

Breakthrough (miyfC/)
means a significant

achievement or discovery.

Stress (ruko)  means

mental or emotional strain.

86. (b) Inchoate (v/wjk) means

something that is in an

initial or undeveloped

stage, not fully formed or

organized. Its opposite is

Refined (lq/jk), which

means well-developed,

polished, or improved.

Artless (lh/ k)  means

without deception or effort.

Articulate (Li"V) means

able to express thoughts

clearly.

Formless (fcuk vkdkj)
means lacking shape or

structure.

87.  (a) Bite the bullet (eqf'dy
fLFkfr dks lguk) – It means

to endure a difficult

situation with courage.

The candidate had to

handle a tough challenge

(an unexpected deadline).

Hit the nail on the head

(fcYdqy lgh ckr dguk) – This

means to identify a

problem correctly

Spill the beans (jkt •ksy
nsuk) – This means to reveal

a secret

Break the ice (laokn 'kq:
djuk) – It means to start a

conversation.

88. (d) Many a man was in the

queue.

“Many a” is a correct

phrase means “a large

number of”, and it is

always followed by a

singular noun and

singular verb.

89. (a) It + be (is) + past participle

(thought) + that- the

Governor will resign.

Active : Subject (They) +

think + that-clause (the

Governor will resign).
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90. (b) Active Voice Structure:

Subject (Mahitha) + had +

past participle (promised)

+ object (Srikar) + indirect

object (good support).

Passive Voice Structure:

Subject (Srikar) + had been

+ past participle

(promised) + by + agent

(Mahitha).

91. (b) A loose cannon  (vfu;af=kr
O;fDr) is someone who acts

unpredictably and might

cause problems due to their

reckless behaviour.

92. (d) she didn’t eat any “any”

is used in negative

sentences.

The sentence already has

“didn’t” (a negative word).

Using “none” (another

negative word) makes it

incorrect.

93. (d) Squabble means to argue

loudly about unimportant

things (NksVh&NksVh ckrksa ij
>xM+uk)-

Maintain means to keep

something in good

condition (cuk, j•uk).

Disagree means to have a

different opinion (vlger
gksuk)

Agree means to have the

same opinion (lgefr j•uk)

94. (c) “Bow” refers to the front

part of a ship (tgkt dk
vxyk Hkkx). As, the sentence

is about a sailor and a

ship.

95. (a) “Courage” is an

uncountable noun, so it

should not be used with

the article “A” (which is

used for countable nouns).

It should be “Courage

gives”.

96. (b)

97. (c)

98. (d)

99. (a)

100.(b)

ANSWER KEY

1. (d)

2. (a)

3. (b)

4. (c)

5. (d)

6. (c)

7. (c)

8. (c)

9. (d)

10. (a)

11. (c)

12. (c)

13. (b)

14. (a)

15. (c)

16. (a)

17. (a)

18. (a)

19. (b)

20. (d)

21. (b)

22. (c)

23. (c)

24. (c)

25. (c)

26. (c)

27. (c)

28. (c)

29. (b)

30. (b)

31. (d)

32. (a)

33. (d)

34. (c)

35. (d)

36. (a)

37. (d)

38. (b)

39. (d)

40. (c)

41. (c)

42. (c)

43. (b)

44. (c)

45. (c)

46. (a)

47. (a)

48. (c)

49. (c)

50. (b)

51. (a)

52. (d)

53. (d)

54. (c)

55. (a)

56. (c)

57. (a)

58. (b)

59. (d)

60. (b)

61. (d)

62. (a)

63. (a)

64. (b)

65. (b)

66. (c)

67. (a)

68. (c)

69. (c)

70. (c)

71. (c)

72. (b)

73. (b)

74. (a)

75. (c)

76. (a)

77. (c)

78. (a)

79. (b)

80. (a)

81. (c)

82. (d)

83. (a)

84. (d)

85. (d)

86. (b)

87. (a)

88. (d)

89. (a)

90. (b)

91. (b)

92. (d)

93. (d)

94. (c)

95. (a)

96. (b)

97. (c)

98. (d)

99. (a)

100.(b)


